
Soustraction Horizontale de Décimaux (E)

Calculez chaque différence.

9,44 − 8,744 = 60,7 − 2,61 =

43,6 − 1,134 = 66,51 − 56,8 =

7,49 − 2,7 = 96,30 − 3,57 =

64,308 − 4,810 = 849,400 − 636,926 =

39,691 − 28,680 = 44,1 − 5,596 =

276,205 − 11,33 = 709,173 − 349,51 =

372,56 − 9,551 = 61,658 − 17,485 =

80,2 − 5,584 = 83,32 − 75,8 =

897,494 − 9,13 = 665,6 − 5,792 =

265,917 − 5,52 = 856,147 − 52,25 =
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Soustraction Horizontale de Décimaux (E) Réponses

Calculez chaque différence.

9,44 − 8,744 = 0,696 60,7 − 2,61 = 58,09

43,6 − 1,134 = 42,466 66,51 − 56,8 = 9,71

7,49 − 2,7 = 4,79 96,30 − 3,57 = 92,73

64,308 − 4,810 = 59,498 849,400 − 636,926 = 212,474

39,691 − 28,680 = 11,011 44,1 − 5,596 = 38,504

276,205 − 11,33 = 264,875 709,173 − 349,51 = 359,663

372,56 − 9,551 = 363,009 61,658 − 17,485 = 44,173

80,2 − 5,584 = 74,616 83,32 − 75,8 = 7,52

897,494 − 9,13 = 888,364 665,6 − 5,792 = 659,808

265,917 − 5,52 = 260,397 856,147 − 52,25 = 803,897
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